MODEL : KY-EP82A
ELECTRIC PLANER
Specification: 82x1mm

PROFESSIONAL

POWER TOOLS




KENVU oveL

PROFESSIONAL
R KY-EP82A ELECTRIC PLANER
No. Description No. Description
1 |PAN HEAD TAPPING SCREW ST4.2X15 39 |PAN HEAD TAPPING SCREW ST4.2X60
2 |CHIP COVER 40 |BEARING RETAINER
3 |ADJUSTING KNOB 41  |PAN HEAD TAPPING SCREW ST4.2X25
4 |SCALE PLATE 42 |V-PULLEY
INCLUDING 4A, 4B,4C 43  |BELT COVER

5 |WASHER 25X10.3X1
44 RUBBER PIN (5X6.7)

PAN HEAD SCREW M4XZ5(WITTH SPRING AND FLAI

6 |MOTOR HOUSING 45 |\ AcuER
7 |NAME PALTE 46  |POLY V BELT 4PJ230
8 |CORD GUARD 47 |V-PULLEY
10 |CORD 48  |BALL BEARING 6000VV(NSK)
11 |STRAIN RELIEF 49  |RUBBER PIN(5X6.7)
12 |PAN HEAD TAPPING SCREW ST4.2X15 50 |ADJUSTING PLATE
13 |CAPACITOR 51 |PAN HEAD SCREW M4X5 (WITH FLAT WASHER)
14 |TRIGGER SWITCH( KEYLESS) 52 |DRUM PLATE SET
15 |HANDLE COVER 53 |HEX FLANGE HEAD BOLT M6X18
16 |PAN HEAD TAPPING SCREW ST4.2X20 54 |BLADE
17 |BALL BEARING 6000ZZCG7E/NSS(NSK) 861 |SHARPENING HOLDER ASSEMBLY (WHOLE SET)
18 |WASHER 10X21X0.5 861-1 |SHARPENING HOLDER (ASSY)
19 |ARMATURE ASSEMBLY 861-2 |WING NUT M6
20 |INSULATION WASHER 861-3 |ROUND HEAD SQUARE NECK BOLT M6X30
21 |BALL BEARING 627S (NMB) (1900B) 861-4 |PLATE FOR SHARPING HOLDER
21A |RUBBER PIN (4X9.5) 862 |BLADE GAUGE
22 |STATOR ASSEMBLY 863 |SOCKET WRENCH 9
23 |PAN HAEAD TAPPING SCREW ST4.2X15 864 |GUIDE PLATE ASSEMBLY
24 |BAFFLE PLATE (42847) |V- PULLEYS/SET (WHOLE SET)

25 |BEARING COVER

26 |PAN HEAD TAPPING SCREW ST4.2X8

27 |CARBON BRUSH HOLDER

28 |CARBON BRUSH

29 |BRUSH HOLDER CAP

31 |LOCK SCREW

32 |COMPRESSION SPRING (21X3X46)

33 |RUBBER PAD

34 |FRONT BASE

35 |PAN HEAD TAPPING SCREW ST5X16

36 |REAR BASE

Page 1 of 2



KENYU

MODEL:
PROFESSIONAL -
Sl s KY-EP82A ELECTRIC PLANER
No. Description No. Description
37 |BALL BEARING 608 DD(NSK)
38 |DRUM

Page 2 of 2




